SENSOR ACTOR LINE
CONNECTORS

CONES
[ 80\ @

TECHNOLOGY IN CONNECTORS"




CONES
wWiINITN

TECHNOLOGY IN CONNECTORS"

As a leading connector manufacturer CONEC develops,
produces and markets connectors worldwide for the appli-
cation fields: industrial electronics, telecommunications,
automation, automotive, aerospace and medical.

CONEC Germany, Lippstadt

CONEC Canada, Brampton



At the headquarters in Lippstadt CONEC maintain
a large research and development department, its own
tool making department, CNC-turning department and a
synthetics injection moulding plant. CONEC is a global

player with its own subsidiaries or production sites in
Canada, the USA, China, Czech Republic, Poland, France
and the UK.




TABLE OF CONTENTS

B Secrion 1

M Secrion 2

™ Secrion 3

M Secrion 4

M Secrion 5

™ Section 6

M Secrion 7

SECTION 8

CONNECTORS OVERMOULDED.

M12x1 Connectors
7/8" Connectors
Rund24 Connectors

M8x1 Connectors
M12x1 Connectors
7/8" Connectors
M23 Connectors
Rund24 Connectors

SOCKETS

Sockers SMT/THR

M8x1 Sockets SMT
M8x1 Sockets THR

M12x1 Sockets SMT

Power CONNECTORS

Nomenclature - Product specification 8
M8x1/@8mm Connectors 16
41
69
87
CONNECTORS FIELD ATTACHABLE
Nomenclature — Product specification 90
102
105
m
112
13
Nomenclature - Product specification 116
M8x1 Sockets front panel mounting 120
M12x1 Sockets front panel mounting 123
7/8" Sockets front panel mounting 134
M8x1 Sockets back panel mounting 138
M12x1 Sockets back panel mounting 142
7/8" Sockets back panel mounting 153
Nomenclature - Product specification 158
160
165
M8x1 Installation components SMT/THR 170
172
M12x1 Installation components SMT 175
PANEL PLUGS MALE/ FEMALE
Nomenclature - Product specification 178
M8x1 Panel plugs male- /female 180
M12x1 Panel plugs male 183
Nomenclature - Product specification 188
M12x1 Connectors, overmoulded, T-coded 192
M12x1 Sockets T-coded 194
M12x1 Connectors, overmoulded, S-coded 196
M12x1 Sockets S-coded 198
Hi1GH TEMPERATURE CONNECTORS
Nomenclature - Product specification 202
M12x1 Connectors overmoulded 206
M12x1 Sockets front/back panel mounting 209
Foop & BEVERAGES CONNECTORS
Nomenclature — Product specification 218
M8x1 Connectors overmoulded 222
M8x1 Sockets front panel mounting 227
M12x1 Connectors overmoulded 228
M12x1 Sockets front/back panel mounting 233




M Secrion 9

M Secrion 10

M Secrion 11

M Secrion 12

™ Secrion 13

M Secrion 14

SECTION 15

CONNECTORS FOR Bus SYSTEMS

Profibus DP

Industrial Ethernet 100 MHz
M8x1 Connectors overmoulded

10 Gbit/s Ethernet

M12x1 Sockets SMT

M12x1 Sockets THR

DeviceNet

7/8" Connectors overmoulded

CAN-Bus

JUNCTION SYSTEMS

M8x1/M12x1 Y-Splitter
M8x1/M12x1 Duo-Splitter
M12x1 T-Splitter

M12x1 Adapter

7/8" T-Splitter

VALVE CONNECTORS

Overview pin assignment
Valve connectors DT-series

ACCESSORIES

Torque wrench/Plug insert
Hex nuts/Tool holder
Protection caps

TECHNICAL INFORMATIONS

Cable qualities
Pin and contact assignment
Coding

Panel cut out
IP Protection classes
Electrotechnical Informations

PART NUMBERS

Nomenclature - Product specification 238
M12x1 Connectors overmoulded 252
M12x1 Connectors field attachable 258
M12x1 Sockets front/back panel mounting 259
D-SUB - M12x1 Connecting cable 270
274
M8x1 Sockets front panel mounting 275
M12x1 Connectors overmoulded 276
RJ45 Connecting cable AWG 24 278
RJ45 - M8x1/M12x1 Connecting cable AWG 26 279
M12x1 Connectors field attachable 280
M12x1 Sockets front/back panel mounting 281
M12x1 overmoulded, field attachable, sockets 286
287
288
RJ45 - M12x1 CONEC EtherCord
M12x1/ RJ45 Connecting cable 289
M12x1 Connectors overmoulded 291
M12x1 Sockets front/back panel mounting 295
297
7/8" Sockets back panel mounting 297
M12x1 Connectors overmoulded 298
M12x1 Sockets front/back panel mounting 299
Nomenclature - Product specification 302
308
31
316
319
321
Nomenclature - Product specification 324
328
330
Valve connectors Superseal-series 340
344
345
346
350
356
360
PCB-layout and installation space dimension 361
375
376
377
ADDITIONAL PRODUCT CATEGORIES
380
388

CONEC®

5



SECTION 1
CONNECTORS OVERMOULDED

-~




SONES® 7



SAL M8x1/@8MM CONNECTORS OVERMOULDED
Nomenclature

=

8 CONEX°




SAL M8x1/@8mMm CONNECTORS OVERMOULDED
Product specification

Recommended torque: 0.4 Nm

Technical subject to change without notice.

CONEC® 9



SAL M12x1T CONNECTORS OVERMOULDED
Nomenclature

SIATLE- 1020 1 JRIKIWEAL-J30LR-131/JAL1]

10 CONC®



SAL M12x1 CONNECTORS OVERMOULDED
Product specification

Recommended torque: 0,6 Nm

Technical subject to change without notice.

CONEC® 11



SAL 7/8" CONNECTORS OVERMOULDED
Nomenclature

;|I||||l|

12 CONEC®



SAL 7/8" CONNECTORS OVERMOULDED
Product specification

Technical subject to change without notice.

CONEC® 13



SAL RunpD24 CONNECTORS OVERMOULDED
Nomenclature

SIALLE- 1214 - JRIKIWISIPREL- 121 /JA]3]

14 CONEC®



SAL RuND24 CONNECTORS OVERMOULDED
Product specification

Technical subject to change without notice.

CONEC® 15



=
= £
g &
g ST
g |2 S8
N s 5 2 ]
= [S)
S & = = = ¥
QL £ T S 2 o
: S S 5 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
Q SAL-8-RK3-2 /A1 42-10000
>
Pin 1 2 3 SAL-8-RK3-3 /A1 42-10001
Pin 3 3 N 3 0,25
Pin 4 2 5 SAL8-RK3-5/A1 4210002
>
o
o 10 SAL-8-RK3-10/A1 42-10003
Q 2 SAL-8-RK4-2/A1 42-10032
X >
210.1 Pin | S 3 SAL-8-RK4-3 /A1 4210033
‘ = 4 N 3 0,25
in 3 )
Pin 4 HE b; 5 SAL-8-RK4-5/A1 4210034
>
o
N—swe/ » 10 SAL8-RK4-10/A1 4210035
3 % Width across
flats 9
° 2 SAL-8B-RK5.1-2/A1  42-11104
- Pin 1
B Pin 21 3 SAL-8B-RK5.1-3/A1  42-11105
28 Pin 3 5 B 30 3 0,25
Pin 4 - 5 SAL-8B-RK5.1-5/A1  42-11106
Pin 5
10 SAL-8B-RK5.1-10/A1  42-11107
2 SAL-8-RK8-2 /A1 4211226
:jn ! E gin 2- 3 SAL-8-RK8-3 /A1 4211227
n n
Pin 3 Pin 7 N 8 A 3015 0,14
Pn4C  PingEM 5 SAL-8-RK8-5/A1 4211228
10 SAL-8-RK8-10/A1 4211229
TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RK3-2/K1 42-10004
>
Pin 1 2 3 SAL-8-RK3-3 /K1 42-10005
Pin 3 3 ~ 3 0,25
Pin 4 2 5 SAL-8-RK3-5 /K1 4210006
>
o
i 10 SAL-8-RK3-10/K1 42-10007
Q 2 SAL-8-RK4-2 /K1 4210036
>
#10.1 Pin 1 2 3 SAL-8-RK4-3 /K1 42-10037
Pin 2] 4 N 3 0,25
! Pin 3 S)
Pin 4 < 5 SAL-8-RK4-5/K1 4210038
o
N swo / i 10 SAL-8-RK4-10/K1 4210039
< Width across
« 2 flats 9 2 SAL8B-RK5.1-2/K1  42-11096
2 Pin 1
- Pin 21 3 SAL-8B-RK5.1-3/K1  42-11097
- Pin 3 5 B 30 3 0,25
Pin 4 N _QR- - .
@8 i 5 SAL-8B-RK5.1-5/K1  42-11098
10 SAL-8B-RK5.1-10/K1  42-11099
2 SAL-8B-RK5.1-2/H5  42-13031
<
Pin 1 e} m
Pin 21 X 3 £  SAL8B-RK5.1-3/H5  42-13032
Pin 3 5 B 30 un 5
Pin 4 . % 5 = SAL8BRK5.1-5/H5 42-13033
Pin 5 ag] X
10 SAL-8B-RK5.1-10/H5 4213034
2 SAL-8-RK8-2 /K1 4211175
A Z- 3 SAL-8-RK8-3 /K1 4211176
n n
Pin 3 Pin 7 N 8 A 30 15 014
Pn4C  PingEM 5 SAL-8-RK8-5/K1 42-11177
10 SAL-8-RK8-10/K1 4211178

16 CONEC® Technical information starting on page 348



~
T £
g =
g ST
S S s
o g § § B
o S S 2 9
= [S)
S & = = = ¥
QL £ T S 2 o
. S 38 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
2 SAL-8-RK3-2/A1/05  42-12226
8
> 3 SAL-8-RK3-3/A1/05  42-12227
Pin 1 I 3
Pin 3 3 N 5 0,5
Pin 4 N Q
2 5 SAL-8-RK3-5/A1/05  42-12228
wn
| 10 SAL-8-RK3-10/A1/05 42-12229
) SW9 /
Width across
0 % flats 9 2 SAL-8-RK4-2/A1/05 4212266
fap]
)
)
- 8
~ 3 SAL-8-RK4-3/A1/05  42-12267
Pin 1 = )
%10 Pin 2 N
Pin 3 W 4 N ° 05
Pin 4 W <
g 5 SAL-8-RK4-5/A1/05  42-12268
wn
10 SAL-8-RK4-10/A1/05 42-12269
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RK3-2/K1/05  42-12230
8
> 3 SAL-8-RK3-3/K1/05 = 42-12231
Pin 1 3
Pin 3 3 N 5 0,5
Pin 4 W 2
Z 5 SAL-8-RK3-5/K1/05  42-12232
wn
10 SAL-8-RK3-10/K1/05 42-12233
[
) SW9 /
Width across 2 SAL-8-RK4-2/K1/05  42-12270
3 % flats 9
)
)
8
- > 3 SAL-8-RK4-3/K1/05 = 42-12271
P!n 1. 3
#10 E= s S s o
Pin 4 N <<
Z 5 SAL-8-RK4-5/K1/05 = 42-12272
wn
10 SAL-8-RK4-10/K1/05 42-12273
Technical information starting on page 348 CONEC®

17




~
= £
g =
—_ =
g =<3 8
[
g 25
N s 5 2 ]
S S o S 8
) <) I 2
QL £ T S 2 o
. H H E
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
Q SAL-8-RKS3-2 /Al 42-10064
>
Pin 1m0 2 3 SAL-8-RKS3-3 /A1 42-10065
Pin 3 3 N 3 0,25
Pin 4 2 5 SAL-8-RKS3-5 /A1 42-10066
>
o
=) 10 SAL-8-RKS3-10/A1  42-10067
Q 2 SAL-8-RKS4-2 /Al 42-10096
X >
Pin 1 2 3 SAL-8-RKS4-3 /Al 42-10097
Pin 2]
oin 3 4 N~ 3 0,25
(&)
Pin 4 W < 5 SAL-8-RKS4-5 /Al 42-10098
o
o 10 SAL-8-RKS4-10/A1  42-10099
2 SAL-8B-RKS5.1-2/A1  42-11108
Pin 1
Pin 21 3 SAL-8B-RKS5.1-3 /A1 42-11109
Pin 3 5 B 30 3 0,25
Pin 4 5 SAL-8B-RKS5.1-5/A1  42-11110
Pin 5
10 SAL-8B-RKS5.1-10/A1  42-11111
TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RKS3-2 /K1 42-10068
>
Pin 1 mm 3 3 SAL-8-RKS3-3 /K1 42-10069
Pin 3 W 3 N 3 0,25
Pin 4 2 5 SAL-8-RKS3-5/KI1 42-10070
>
o
k) 10 SAL-8-RKS3-10/K1  42-10071
Q 2 SAL-8-RKS4-2 /K1 42-10100
. >
Pin 1 = 2 3 SAL-8-RKS4-3 /K1 42-10101
Pin 2]
Pin 3 4 > 3 0,25
(©)
Pin 4 W < 5 SAL-8-RKS4-5 /K1 42-10102
o
o 10 SAL-8-RKS4-10/K1  42-10103
2 SAL-8B-RKS5.1-2/K1  42-11100
Pin 1
Pin 200 3 SAL-8B-RKS5.1-3 /K1 42-11101
Pin 3 5 B 30 3 0,25
Pin 4 5 SAL-8B-RKS5.1-5/K1  42-11102
Pin 5
10 SAL-8B-RKS5.1-10/K1  42-11103

18 CONEC® Technical information starting on page 348



T
= £
g =
g S X 5 s
S v o IS
QU > &£ = Y]
S £ 8§ & 2
N s = S a
S & = = = ¥
<Q < S S ~ S
. H H E
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
2 SAL-8-RKS3-2/A1/05 42-13043
O
a
_ 2 3 SAL-8-RKS3-3/A1/05 4213044
Pin 1 ©
Pin 3 N 3 N 5 05
Pin 4 N ::’
S 5 SAL-8-RKS3-5/A1/05 42-13045
2
10 SAL-8-RKS3-10/A1/05 42-13046
2 SAL-8-RKS4-2/A1/05 42-13051
O
o
- E 3 SAL-8-RKS4-3/A1/05 42-13052
Pin 2] N
Pin 3 W 4 N ° 05
Pin 4 < 5 SAL-8-RKS4-5/A1/05 4213053
2
10 SAL-8-RKS4-10/A1/05 42-13054
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RKS3-2/K1/05 42-13047
O
o
4 3 SAL-8-RKS3-3/K1/05 4213048
Pin 1 I @
Pin 3 N 3 N 5 05
Pin 4 N 2
S 5 SAL-8-RKS3-5 / K1 /05 42-13049
2
10 SAL-8-RKS3-10/K1/05 42-13050
2 SAL-8-RKS4-2/K1/05 42-13055
(®]
(=)
Pin 1 2 3 SAL-8-RKS4-3/K1/05  42-13056
Pin 2] ©
Pin 3 W 4 R 05
Pin 4 - < 5 SAL-8-RKS4-5/K1/05 4213057
< -8-RKS4- ;
2
10 SAL-8-RKS4-10/K1/05 42-13058

Technical information starting on page 348 CONEC® 19



~
= £
g =
~ =
g =<3 8
S} ) > )
o g = § B8
N g S B ]
= = — V) o
) <) I =
QL £ T S 2 o
. T H E
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
Q SAL-8-RKW3-2 /Al 42-10016
>
Pin 1m0 2 3 SAL-8-RKW3-3 /A1 4210017
Pin 3 3 N 3 0,25
Pin 4 2 5 SAL-8-RKW3-5 /A1 42-10018
>
o
=) 10 SAL-8-RKW3-10/A1  42-10019
B 6) 2 SAL-8-RKW4-2 /AT 42-10048
S >
© Pin 1 3 3 SAL-8-RKW4-3 /A1 42-10049
Pin 2]
oin 3 4 N~ 3 0,25
Q
Pin 4 W < 5 SAL-8-RKWA4-5 /Al 42-10050
o
Swo/ o 10 SAL-8-RKW4-10/A1  42-10051
[ Width across
B | gg fals9 2 SAL-8B-RKW5.1-2 /A1  42-11751
I ‘ Pin 1
Pin 21 3 SAL-8B-RKW5.1-3 /Al 42-11752
Pin 3 5 B 30 3 0,25
Pin 4 W 5 SAL-8B-RKW5.1-5 /Al 42-11753
Pin 5
10 SAL-8B-RKW5.1-10 /A1 42-11754
TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RKW3-2/K1 42-10020
>
Pin 1 mm 3 3 SAL-8-RKW3-3 /K1 42-10021
Pin 3 W 3 N 3 0,25
Pin 4 2 5 SAL-8-RKW3-5 /K1 42-10022
>
o
k) 10 SAL-8-RKW3-10/K1  42-10023
- Q 2 SAL-8-RKW4-2 /K1 42-10052
= _ >
< Pin 1 = 2 3 SAL-8-RKW4-3 /K1 42-10053
Pin 2]
Pin 3 W 4 > 3 0,25
Q
Pin 4 W < 5 SAL-8-RKW4-5 /K1 42-10054
o
Swo o 10 SAL-8-RKW4-10/K1  42-10055
[ Width across
o [[1]| g8 ™0 2 SAL-8B-RKW5.1-2 /K1 42-11748
Pin 1
Pin 200 3 SAL-8B-RKW5.1-3 /K1 42-11749
Pin 3 5 B 30 3 0,25
Pin 4 5 SAL-8B-RKW5.1-5 /K1 42-11656
Pin 5
10 SAL-8B-RKW5.1-10/K1  42-11750

20 CONEC® Technical information starting on page 348



T
T £
£ =
~ =
g =<3 8
g |2 S8
© S & £ 9
S & > v X N
S £ v § & O
: S 38 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
2 SAL-8-RKWS3-2/A1  42-10080
O
o
2 3 SAL-8-RKWS3-3/A1  42-10081
Pin 1 ©
Pin 3 W 3 N 3 0,25
Pin 4 W <
S 5 SAL-8-RKWS3-5/A1  42-10082
© |9 2
o | R
g &
10 SAL-8-RKWS3-10/A1  42-10083
2 SAL-8-RKWS4-2/A1  42-10112
O
o
o 78 Pin 1 § 3 SAL-8-RKWS4-3/A1  42-10113
Pin 2]
Pin s 4 S 3 025
Pin 4 - < 5 SAL8-RKWS4-5/A1  42-10114
o
mn
10 SAL-8-RKWS4-10/A1  42-10115
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RKWS3-2/K1  42-10084
O
(=]
4 3 SAL-8-RKWS3-3/K1 ~ 42-10085
Pin 1 I @
Pin 3 Wl 3 N 3 0,25
Pin 4 N 2
N 5 SAL-8-RKWS3-5/K1  42-10086
o
© |9 o
o | R
SRS 10 SAL-8-RKWS3-10/K1  42-10087
2 SAL-8-RKWS4-2/K1 ~ 42-10116
O
o
" - § 3 SAL-8-RKWS4-3/K1  42-10117
- Pin 2]
Pin > 4 S 3 025
Pin 4 - < 5 SAL8-RKWS4-5/K1  42-10118
2
10 SAL-8-RKWS4-10/K1  42-10119

Technical information starting on page 348 CONEC® 21



~
= §
g =
g S I - 8
~ m 4+~
N S & £ Q
i=}
S = = ] < N
2 £ T S (S} N
i S 3§ 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
21 é SAL-8-RKW3-2L-2/A1  42-10452
fg 3 SAL-8-RKW3-21-3/A1  42-10453
S o
“L SWo / 3 30 3 025
Width across
flats 9
10 5 SAL-8-RKW3-2l-5/A1  42-10454
10 SAL-8-RKW3-21-10/A1 42-10455
TPU, UL, halogenfree, black, Li9Y11Y
21 s 2 SAL8-RKW3-21-2/K1 4210456
Q
fg P 1= — 3 SAL8RKW3-2L:3/K1 4210457
J| =
R Swo s 3 30 3 025
Width across
m;'a’SQ 5 SAL-8-RKW3-21-5/K1  42-10458
10 SAL-8-RKW3-21-10/K1  42-10459
PVC, grey, LiYY
21 é 2 SAL-8-RKW4-31-2 /A1  42-10460
Yy Pin 1 >
F ot 3 SAL-8-RKW4-31-3/A1  42-10461
™ _I'Pin 40
©L SWo / % 4 30 3 025
Width across ©
W;'a’SQ bin 3 5 SAL-8-RKW4-31-5/A1  42-10462
10 SAL-8-RKW4-31-10/A1 42-10463
TPU, UL, halogenfree, black, Li9Y11Y
21 g 2 SAL-8-RKW4-31-2/K1  42-10464
ﬁg e - 3 SAL-8-RKW4-3L:3 /K1 42-10465
o) TPinsmm
©L SWo / %u% oKy 4 30 3 025
Width across ol o
flats 9 Pin3am 5 SAL8-RKWA-3L-5/K1  42-10466
@10
10 SAL-8-RKW4-31-10/K1  42-10467

22 CONEC®

Technical information starting on page 348




=~
= £
g
g ST
g |2 S8
N S & £ a
= [S)
S & = = = ¥
<Q < S S ~ S
i S 3§ 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
%) 2 SAL-8-RS3-2 /A1 42-10008
a
>
pin | 3 3 SAL-8-RS3-3/A1 42-10009
Pin 3 . 3 N 3 0,25
Pin 4 L<>z’ 5 SAL-8-RS3-5/A1 42-10010
o
o 10 SAL-8-RS3-10/A1 42-10011
10,1
M8x1 8 2 SAL-8-RS4-2 /Al 42-10040
>
Pin 1 2 3 SAL-8-RS4-3 /A1 42-10041
i— 4 N 3 0,25
= 2 SAL8-RS4-5 /A1 4210042
. SWo/ Pin 4 HE <>( 5 -8-RS4- -
< Width across 8
% flats 9 10 SAL-8-RS4-10/A1 42-10043
w
, 0
— 2 SAL-8B-RS5.1-2 /A1 42-11120
o8 Pin 1
T i 3 SAL-8B-RS5.1-3/A1  42-11121
Pin 3 I 5 B 30 3 0,25
Pin 4 N
Pin 5 5 SAL-8B-RS5.1-5/A1 42-11122
10 SAL-8B-RS5.1-10/A1  42-11123
2 SAL-8-RS8-2 /Al 42-11230
Pin 1 E Pin 5 W 3 SAL-8-RS8-3 /A1 42-11231
Pin 2 Pin 6
Pnymm  pnyem 8 A 30 15 014
Pin4C  Ping MM 5 SAL-8-RS8-5/Al 42-11232
10 SAL-8-RS8-10/A1 42-11233
TPU, UL, halogenfree, black, Li9Y11Y
8 2 SAL-8-RS3-2 /K1 42-10012
>
Pin 1 3 3 SAL-8-RS3-3 /K1 42-10013
Pin 3 W 3 N 3 0,25
Pin 4 < 5 SAL-8-RS3-5/K1 42-10014
>
2 10 SAL-8-RS3-10/K1 42-10015
8 2 SAL-8-RS4-2 /K1 42-10044
. >
pn ] B 3 SAL-8-RS4-3 /K1 4210045
Pin 3 I 4 S 3 0.25
Pin 2 W < 5 SAL-8-RS4-5 /K1 4210046
>
2 10 SAL-8-RS4-10/K1 42-10047
2 SAL-8B-RS5.1-2 /K1 42-11112
Pin 1 Il
Pin 2] 3 SAL-8B-RS5.1-3 /K1 42-11113
Pin 3 I 5 B 30 3 0,25
° SWe/ Pin 4 W 5 SAL-8B-RS5.1-5/K1  42-11114
¥ Width across Pin 5
% flats 9 10 SAL-8B-RS5.1-10/K1  42-11115
©
- - 2 <  SAL-8B-RS5.1-2/H5 42-13035
T . Pin 1 m s
i Pin 2 & 3 R SAL8BRS5.1-3/H5  42-13036
Pin 3 5 B 30 un <«
Pin 4 < 5 —  SAL8B-RS5.1-5/H5  42-13037
Pin 5 23] <;‘><
10 ™  SAL-8B-RS5.1-10/H5 42-13038
2 SAL-8-RS8-2 /K1 42-11179
Pin 11 Pin 5
Pin 2 H Pin 6 3 SAL-8-RS8-3 /K1 42-11180
Pn3mm  pnyem S A 30 15 014
At Pingmm 5 SAL-8-RS8-5/K1 4211181
10 SAL-8-RS8-10/K1 42-11182
Technical information starting on page 348 CONEC®

23




)
= £
g =
g ST
g |2 S8
N S & £ a
i)
S > = ok =2 N
<Q < S S ~ S
i S 3§ 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
2 SAL8-RS3-2/A1/05 42-12234
(&)
a
2 3 SAL-8-RS3-3/A1/05 4212235
Pin 1 Il [}
10,1 Pin 3 N 3 N 5 0,5
¢ Pin 4 I 2
M8x1 S 5 SAL-8-RS3-5/A1/05 42-12236
2
10 SAL-8-RS3-10/A1/05 42-12237
SWg/
Width across 2 SAL-8-RS4-2/A1/05 42-12274
flats 9 %)
(=)
Pin 1 § 3 SAL-8-RS4-3/A1/05 42-12275
Pin 2]
] Pin 3 A S 5 05
Pin 4 . = 5 SAL-8-RS4-5/A1/05 4212276
< -8-RS4- .
@10 S
10 SAL-8-RS4-10/A1/05 42-12277
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RS3-2/K1/05 42-12238
(&)
(=)
>
3 SAL-8-RS3-3/K1/05  42-12239
@10,1 Pin 1 B
Pin 3 W 3 N 5 0,5
Max1 Pin 4 I Q
3 5 SAL8-RS3-5/K1/05 42-12240
2
10 SAL-8-RS3-10/K1/05 42-12241
SWg/
Width across
flats 9 2 SAL-8-RS4-2/K1/05 42-12278
(&)
(=)
| - § 3 SAL-8-RS4-3/K1/05 42-12279
Pin2[]
Pin 3 4 N - 05
g1o Pin 4 -t < 5 SAL-8-RS4-5/K1/05  42-12280
3
10 SAL8-RS4-10/K1/05 42-12281

24 CONEC® Technical information starting on page 348




~
= £
g
g ST
N HE
N g S B a
3 > = ok = e
QL £ T S 2 o
. S 38 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
8 SAL-8-RSS3-2 /A1 42-10532
>
Pin 1 W = 3 SAL-8-RSS3-3 /A1 42-10746
P@n 3| 3 N 3 0,25
Pin 4 2 5 SAL-8-RSS3-5/A1 4210747
>
o
0 10 SAL-8-RSS3-10/A1 42-10748
8 2 SAL-8-RSS4-2 /A1l 42-10531
! >
Pin 1 = ) 3 SAL-8-RSS4-3 /A1 42-10749
Pin 2]
Pin 3 W 4 S 3 0.25
(&)
Pin 4 HE < 5 SAL-8-RSS4-5/A1 42-10750
¥ % >
o
o ) 10 SAL-8-RSS4-10/ A1 42-10751
- 2 SAL-8B-RSS5.1-2/A1  42-11124
8
g Pin 1
Pin 2] 3 SAL-8B-RSS5.1-3/A1  42-11125
Pin 3 . 5 B 30 3 0,25
Pin 4 5 SAL-8B-RSS5.1-5/A1  42-11126
Pin 5
10 SAL-8B-RSS5.1-10/A1  42-11127
TPU, UL, halogenfree, black, Li9Y11Y
ko) 2 SAL-8-RSS3-2 /K1 42-10760
S [
Pin 1 mm 2 3 SAL-8-RSS3-3 /K1 42-10761
Pin 3 . 3 N 3 0,25
Pin 4 2 5 SAL-8-RSS3-5 /K1 4210762
>
o
0 10 SAL-8-RSS3-10/K1 42-10763
Q 2 SAL-8-RSS4-2 /K1 42-10764
! >
Pin 1 3 3 SAL-8-RSS4-3 /K1 42-10765
Pin 21
Pin 3 I 4 S 3 0.25
O
Pin 4 HE < 5 SAL-8-RSS4-5 /K1 42-10766
>
? 10 SAL-8-RSS4-10/K1 42-10767
= 2 SAL-8B-RSS5.1-2/K1  42-11116
¢8 Pin 1
Pin 2] 3 SAL-8B-RSS5.1-3 /K1 42-11117
Pin 3 . 5 B 30 3 0,25
Pin 4 W 5 SAL-8B-RSS5.1-5/K1  42-11118
Pin 5
10 SAL-8B-RSS5.1-10/K1  42-11119

Technical information starting on page 348 CONEC® 25



~
= £
g
g ST
S v o IS
& g £ § 8
S = S Q v
S = v
3 & = k=R e
2 £ T S (S} N
: s s 8 5§ ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-8-RSS3-2/A1/05 42-13059
=t
> 3 SAL-8-RSS3-3/A1/05 42-13060
Pin 1 3
Pin 3 W 3 N 5 0,5
Pin 4 N g
g 5 SAL-8-RSS3-5/A1/05 42-13061
wn
?6,9
10 SAL-8-RSS3-10/A1/05 42-13062
< -
2 SAL-8-RSS4-2/A1/05 42-13067
5 %
[s2]
“ 2
> 3 SAL-8-RSS4-3/A1/05 42-13068
— ¢ Pin 1 8
10 Pin 2]
Pin 3 I 4 N - 05
Pin 4 HE <
> 5 SAL-8-RSS4-5/A1/05 42-13069
3
10 SAL-8-RSS4-10/A1/05 42-13070
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RSS3-2/K1/05 42-13063
2
> 3 SAL-8-RSS3-3/K1/05 42-13064
Pin 1 3
Pin 3 I 3 N 5 0,5
Pin 4 HE ;—t’
g 5 SAL-8-RSS3-5/K 1/05 42-13065
?6,9 0
~ = 10 SAL-8-RSS3-10/K1/05 42-13066
® - % 2 SAL-8-RSS4-2/K1/05 42-13071
o
[S)
- a
@10 > 3 SAL-8-RSS4-3/K1/05 42-13072
Pin 1 8
Pin 2]
Pin 3 I 4 N ° 05
Pin 4 N <
> 5 SAL-8-RSS4-5/K1/05 42-13073
2
10 SAL-8-RSS4-10/K1/05 42-13074

26 CONEC® Technical information starting on page 348




~
= £
g
g ST
~ m 4
g 255
N S & £ a
= [S)
S & = = = ¥
<Q < S S ~ S
. H H E
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-8-RSU3-2 /A1 42-10072
=]
> 3 SAL-8-RSU3-3 /A1 42-10073
Pin 1 3
Pin 3 N 3 N 3 0,25
Pin 4 <
g 5 SAL-8-RSU3-5/A1 42-10074
wn
MEx1 10 SAL8-RSU310/A1  42-10075
%
I
2 SAL-8-RSU4-2 /A1 42-10104
o Sw9/
N % Width across O
flats 9 a
0 > 3 SAL-8-RSU4-3 /A1 42-10105
o - Pin 1 Il 8
Pin2[]
i 1 ?8 Pin 3 HH 4 S 3 0,25
T t Pin 4 N <
> 5 SAL-8-RSU4-5/A1 42-10106
2
10 SAL-8-RSU4-10/A1 42-10107
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RSU3-2 /K1 42-10076
=]
> 3 SAL-8-RSU3-3 /K1 42-10077
Pin 1 3
Pin 3 H 3 N 3 0,25
Pin 4 HE 2
g 5 SAL-8-RSU3-5/K1 42-10078
n
M8x1 10 SAL-8-RSU3-10/K1 42-10079
%
I
2 SAL-8-RSU4-2 /K1 42-10108
o Sw9/
N % Width across pay
flats 9 > 3 SAL-8-RSU4-3 /K1 42-10109
9 Pin 1 S
_ Pin 21
- Pin 3 B « N S 0.25
28 Pin 4 W <
T t > 5 SAL-8-RSU4-5 /K1 42-10110
2
10 SAL-8-RSU4-10/K1 42-10111

Technical information starting on page 348 CONEC® 27



~
= £
g
g S = 5 s
S NS ks
o g = § B8
N = BN - a
S e o = 8
) > 2 B 2
<Q < S S ~ S
i S 3§ 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-8-RSFU3-
= 0,5 0,5/A1 42-11187
>
SAL-8-RSFU3-
Pin 1 I 2 1 1/A1 42-11188
- 3 hY 025 g L8 RsFU3
Pin 4 -8- - .
<>t 2 2/A1 42-11189
o -8- -
o 3 gA/IAB] i) 42-11190
M8x1
@sxs ) 05 SALBRSFU4- 42-11195
| | ’ a ! 0,5/A1
) ) > 8- -
pin 1 3 1 SR GRIE 4211196
Pin 2] 4 N 025 1/A1
Pin 3 W ) ! SAL-8-RSFU4-
N % Pin 4 <>z 2 2/A1 42-11197
(3]
o SAL-8-RSFU4-
wn -
. o 3 3/A1 42-11198
05 SAL-8B-RSFU5.1- 4212173
@8 05/ A1
Pin 1 W SAL-8B-RSFU5.1-
Pin 2 1 N 4212174
Pin 3 5 B 30 3 0,25
Pin 4 W 2 SAL-8B-RSFUS5.1- 2212175
Pin 5 W 2/ Al
SAL-8B-RSFU5.1-
3 3/ A1 42-12176
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RSFU3-
LD) 0,5 05/K1 42-11191
>
SAL-8-RSFU3-
Pin 1 = 1 1/K1 42-11192
i 3 N 025 = s AL8-RSFU3
Pin 4 W -8- - .
<>): 2 2/K1 42-11193
3 SAL-8-RSFU3-
n -
3 3/K1 42-11194
SAL-8-RSFU4-
LQ) 0,5 0,5/KI 42-11199
) > 8- -
Fin 1 3 : SAL-8-RSFU4 4211200
Pin 2 —_ 4 ~ 3 025 1/K1
Pin 3 ) ! SAL-8-RSFU4-
Pin 4 HE <>£ 2 2/K1 42-11201
M8x 2 SAL-8-RSFU4- R
6.5 3 3/K1 42-11202
T SAL-8B-RSFUS.1- )
05 05/ KI 4212177
Pin 1 SAL-8B-RSFU5.1-
Pin2[ ] 1 1/K1 42-12178
Pin 3 N 5 B 30 3 0,25
] g = 5 SAL-8B-RSFUS.1- 1212179
© Pin 5 W 2 /Kl
- - SAL-8B-RSFU5.1-
3 3/K 42-12180
@8 SAL-8B-RSFU5.1-
0,5 <« 05/H5 42-12181
Pin 1 2 SAL-8B-RSFU5.1-
i p— 2 2 1 e 4212182
Pin 3 5 B 30 un <
pin 4 =, I SALBBRSFUS.I- 1212183
Pin 5 W ™ * 2/H5
m
SAL-8B-RSFU5.1-
3 3/ H5 42-12184

28 CONEC® Technical information starting on page 348



~
= £
g =
—_ =
g =I5 8
S ) > &)
o g = § B8
o S & £ 9
a 3 oY) o
S (S _ X I
S £ v § & O
. S 38 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
2 SAL-8-RSW3-2 /A1 42-10024
O
(=)
2 3 SAL-8-RSW3-3/A1 4210025
Pin 1 ©
Pin 3 W 3 N 3 0,25
Pin 4 I <
> 5 SAL-8-RSW3-5/A1 42-10026
2
27 * § 10 SAL-8-RSW3-10/A1 42-10027
2|8
g 2 SAL-8-RSW4-2 /Al 42-10056
o
N swo / a
[T] Wi across Pin 1 = 3 SAL8-RSW4-3/A1 4210057
o 28 Pin 2] ©
i Pin s 4 S 3 025
Pin 4 - < 5 SAL8-RSW4A-5/A1  42-10058
o
mn
10 SAL-8-RSW4-10/A1 42-10059
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-8-RSW3-2 /K1 42-10028
O
o
g 3 SAL-8-RSW3-3 /K1 42-10029
Pin 1 I @
Pin 3 Wl 3 N 3 0,25
Pin 4 HE g
> 5 SAL-8-RSW3-5/K1 42-10030
2
27 % § 10 SAL-8-RSW3-10/K1 42-10031
2|8
g 2 SAL-8-RSW4-2 /K1 42-10060
o
N swo/ é
Width across ’ -8- 5 -
H s 1 S 3 SAL8-RSW4-3/K1  42-10061
- L pin s 4 S 3 025
Pin 4 - < 5 SAL8-RSW4-5/K1 4210062
2
10 SAL-8-RSW4-10/K1 42-10063

Technical information starting on page 348 CONEC® 29



=
= £
g =
~ =
g =I5 5
S ) > o
QU > &£ = Y]
5 £ 8 9 g
S S o S 8
> = X
<Q < = S ~ S
: S S5 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
Q SAL-8-RSWU3-2/A1  42-10088
>
. S Pin 1 2 3 SAL8-RSWU3-3/A1  42-10089
g ég Pin 3 3 N 3 0,25
e Pin 4 2 5 SAL-8-RSWU3-5/A1  42-10090
[ >
o
: L o 10 SAL8-RSWU3-10/A1  42-10091
SWg/
Width across 1) 2 SAL-8-RSWU4-2/A1  42-10120
e flats 9 g
|28 g!";; 2 3 SAL-8-RSWU4-3/A1  42-10121
Pin 3 mm 4 O 025
Q
Pin 4 b 5 SAL-8-RSWU4-5/A1  42-10122
>
=)
o 10 SAL-8-RSWU4-10/AT  42-10123
TPU, UL, halogenfree, black, Li9Y11Y
Q 2 SAL-8-RSWU3-2/K1 ~ 42-10092
>
- Pin 1 3 3 SAL-8-RSWU3-3/K1  42-10093
z 2| &|g Pin 3 3 N3 025
e el b Pin 4 2 5 SAL-8-RSWU3-5/K1 4210094
[ >
o
; IS - I 10 SAL8-RSWU3-10/K1  42-10095
SWg/
Width across %) 2 SAL8-RSWU4-2/K1  42-10124
LT flats 9 g
I¢8 P?ﬂ;; 2 3 SAL-8-RSWU4-3/K1  42-10125
= 45 3 o
Pin 4 < 5 SAL-8-RSWU4-5/K1  42-10126
o
o 10 SAL8-RSWU4-10/K1  42-10127

30 CONEC® Technical information starting on page 348




~
= §
g =
g S
S} ) S g
o g = § %
N g S B Q
S S = ] 2 e
S £ 3§ § « U
- S S § 5§ ¢
PVC, grey, LiYY Contact assignment = S & G O = Description Part No.
Q 03 SAL-8-RK3-RS3-0,3/A1 42-10141
>
Pin 1 3 06 SAL-8-RK3-RS3-0,6 /A1 42-10142
P@ns- 3 N 3 0,25
Pin 4 2 1,5 SAL-8-RK3-RS3-1,5/A1 42-10143
>
o
k) 3 SAL-8-RK3-RS3-3/A1  42-10144
Q 03 SAL-8-RK4-RS4-0,3 /A1 42-10157
. >
Pin 1 3 0,6 SAL-8-RK4-RS4-0,6 /A1 42-10158
Pin2 (1
Pin 3 W 4 > 3 0.25
Q
Pin 4 < 1,5 SAL-8-RK4-RS4-1,5/A1 42-10159
>
o
o 3 SAL-8-RK4-RS4-3/A1  42-10160
Pin 1 SAL-8B-RK5.1-

4 SW9/ Pin2 (] R RS5.1-0,6 /A1 4211142
Width across  p - mm N E 1e 025 "G AL.8B-RKS.1- 421143
flats 9 Pin 5 W ' RS5.1-1,5/A1 )

SAL-8B-RK5.1-
o 3 RS5.1-3/A1 4211144
<
03 SAL-8-RK8-RS8-0,3 /A1 42-11234
| ; | Msxi Pin1CJ  Pin5mm 06 SAL-8-RK8-RS8-0,6 /A1 42-11235
Pin 2 Pin 6 8 A

@101 Pin3mE  Pin7mm 30 15 014
’ Pn4Cd  Pingmm 15 SAL-8-RK8-RS8-1,5/A1 42-11236

3 SAL-8-RK8-RS8-3 /A1  42-11237
TPU, UL, halogenfree, black, Li9Y11Y
Q 03 SAL-8-RK3-RS3-0,3 /K1 42-10145
>
Pin 1 3 0,6 SAL-8-RK3-RS3-0,6 /K1 42-10146
Pin 3 . 3 N 3 0,25
Pin 4 . 2 15 SAL-8-RK3-RS3-1,5/K1  42-10147
>
o
B 3 SAL-8-RK3-RS3-3/K1  42-10148
Q 03 SAL-8-RK4-RS4-0,3 /K1 42-10161
. >
Pin 1 . 2 06 SAL-8-RK4-RS4-0,6 /K1 42-10162
Pin 20 4 < 3 025
10,1 Pin 3 S \
Pin 4 HE b 15 SAL-8-RK4-RS4-15/K1  42-10163
>
o
i 3 SAL-8-RK4-RS4-3 /K1  42-10164
<t
P SAL-8B-RK5.1-
2 RS5.1-0,3 /K1 4211128
Pin 1 -8B- -
Pin 200 06 SALBB RIS | 4211129
. RS5.1-0,6/K1
N SW9/ Pin 3. 5 B 30 3 0,25 SAL-8B-RK5.1-
Width across | ¢ 15 REE 115 /K1 4211130
flats 9 T
SAL-8B-RK5.1-
: RS5.1-3/K1 421131
g
03 SAL-8-RK8-RS8-0,3 /K1 42-11183
; E" ; E E" Z- 0,6 SAL-8-RK8-RS8-0,6 /K1 42-11184
n n
| Mex Pn3mm  pnyem S A 30 15 014
2101 P4 Pingmm 1,5 SAL-8-RK8-RS8-1,5/K1 42-11185
3 SAL-8-RK8-RS8-3/K1  42-11186

Technical information starting on page 348 CONEC® 31



~
=
g =
5 S I < s
S v o kS
< § 5 §
N S § = ]
§ » = & = 8
Q2 £ T S () N
H H E
PVC, grey, LiYY Contact assignment = S & S 8 = Description Part No.
03 ggL'f'X'f'/'ROS:' 4212242
a SAL-8-RK3-RS3
> 06 Dl -
. 2 ' 0,6/ Al /05 4212243
Pin 1 o
Pin 3 W 3 N 5 0,5
Fin - 2 SAL8-RK3-RS3
> ~O° - . -
2 1,5 15/ Al 705 4212244
3 :A/L'i'1R'§36§S3 ' 4212245
- ‘ ‘ Swe SAL8-RK4-RS4-
Width -
ﬂa|tsga<:ros:s 03 03/Al/05 42-12250
a SAL-8-RK4-RS4
M pin 1 2 08 0,6/ Al /05 4212251
Pin 2]
Pin 3 m 4 N 05
Pin 4 < SAL-8-RK4-RS4-
| 11789 2 5 15/ A1/ 05 4212252
[ [ msxt o
T ] @101
3 gA/L'i']R546';S4' 42-12253
TPU, UL, halogenfree, black, Li9Y11Y
03 gg“f’&ﬁ'?g 4212246
a SAL-8-RK3-RS3
> 06 el 4212247
- 3 0,6 /K1 /05
Pin 3 W 3 N 5 0,5
Fine - 2 SAL8-RK3-RS3
> —O° i ° -
2 1,5 15/ K /05 4212248
SAL-8-RK3-RS3-
3 S 4212249
SAL-8-RK4-RS4-
SW9/ 4212254
- ‘ ‘ Width across e 0,3 /K1 /05
flats 9
a SAL-8-RK4-RS4
. - § 06 06/ Kl /05 4212255
i Pin 2
Pin 3 W 4 N ° 0,5
Pin 4 . X SAL-8-RK4-RS4-
> 1,5 4212256
' 1,5/ K1 /05
IR 3 AR
[ [ msxt
T ] @101 SAL-8-RK4-RS4-
3 S 4212257

32 CONEC® Technical information starting on page 348




T
= £
g =
g S
- ] =
s |2 fg s
S S S =2 w9
= [S)
S © = = = ¥
2 £ T s =2 N
. H H E
PVC, grey, LiYY Contact assignment = S & G O = Description Part No.
SAL-8-RK3-RSS3-
Q 03 03/A1 4210827
> -8-RK3-RSS3-
- S 06 SAL-8-RK3-RSS3 4210828
Pin 3 3 S 3 0,25 - 26/Al
swo/ Pin 4 2 15 ?él;i:?m-RSS} 42-10829
Width across > ! ,
flats 9 o SAL-8-RK3-RSS3-
n -
3 S0 42-10830
SAL-8-RK4-RSS4-
Q 03 03/A1 4210835
> -8-RK4-RSS4-
Pin 1 ; 3 0,6 g‘g /i';'“ RS54 42-10836
& |8 :25- = N s 0.25 = ¢\ |.8-RKA-RSS4- 1210837
Pin 4 I <>( ' 1,5/A1 -
I geo 2 3 gﬁ;ﬁ'RK“'RSS“' 4210838
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RK3-RSS3-
Q 03 03/K1 42-10831
> -8-RK3-RSS3-
- s 06 SAL-8-RK3-RSS3 4210832
bin 3 3 S 3 0,25 - 267K
swa/ Pin 4 2 15 ?’;L}i:‘K}RSS} 42-10833
Width across > B
flats 9 =] SAL-8-RK3-RSS3-
n -
3 ST 4210834
o SAL-8-RK4-RSS4-
Q 03 03/Kl 4210839
4 > -8-RK4-RSS4-
= S | onBANEE
& |8 Pins 4 K 025~ G AL 8-RKA-RSS4
Pin 4 "<>:’ 15 S 42-10841
o SAL-8-RK4-RSS4-
! 9 Ta) A
e 3 2K 4210842
PVC, grey, LiYY
10,1
I SAL-8-RK3-RSFU3-
03 03/A1 42-11203
I
idth across
flais 9 a 06 SALBRK3RSFU3- o 0o
- 2 ' 0,6/Al
’ ’ Pin 1 )
P?n3- 3 N 3 0,25
e < . SALBRKIRSFU3-
e 2 ' 1,5/A1
o=
T @es SAL-8-RK3-RSFU3-
— 3 S 42-11206
TPU, UL, halogenfree, black, Li9Y11Y
10,1
I SAL-8-RK3-RSFU3-
03 03/K1 4211207
I
idtl T
iss 8 06 SALBRIGRSFUS- o
- ‘ 2 ' 0,6/KI1
Pin 1 I )
’ ’ P?n3- 3 N 3 0,25
- L;‘) * SALBRK3-RSFU3- 1500
e 2 ' 15/K1
o=
T oes SAL-8-RK3-RSFU3-
s 3 v 42-11210

Technical information starting on page 348 CONEC® 33



=
= £
g £
5 S I < s
S v o kS
o g = § %
N = BN - a
S S 8
) > 2 B N
Q < = S ~ S
. S S § 5§ ¢
PVC, grey, LiYY Contact assignment = S & G O = Description Part No.
SAL-8-RKS3-
a 03 RSS3-0,3 /Al 42710811
>
SAL-8-RKS3-
Pin | - e e RSS3-0,6/A1 42710812
Pin 3 N N 2 L
Pin 4 mm ’ Q ’ 15 O saLRKs3- 4210813
S ' RSS3-1,5/A1
9 SAL-8-RKS3-
@95 sl i
-~ 3 RS3.3 /A1 42-10814
—— SAL-8-RKS4-
= 2 o2 RSS4-0,3 /A 4210819
. > -8-RKS4-
o W
!ﬂ ~ Y
i it ’ 2 ’ 15 0% saLgKsa- 4210821
Pin 4 . S : RSS4-1,5/A1
o SAL-8-RKS4-
n -
‘ ‘ 3 iy 4210822
- SAL-8B-RKS5.1-
03 RSS5.1-0,3/A1 4211136
Pin 1 W -8B- -
& Pin 2 06 SALBERKSS.1 4211137
= N . B 025 RSS51-06/AT
Pin 4 W 15 SALBBRKSSI- 4211138
1 o9 Pin 5 W ! RSS5.1-1,5/A1
SAL-8B-RKS5.1-
3 RSS5.1-3 /A1 4211139
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKS3-
g 03 RSS3-03/K1 4210815
>
SAL-8-RKS3-
Pin 1 3 0,6 eyl 4210816
- 3 N 025~ A L8-RKS3-
Pin 4 M 2 15 42-10817
> RSS3-1,5/K1
3 SAL-8-RKS3-
o -
@9,5 -~ 3 RSS3-3 /K1 42-10818
. SAL-8-RKS4-
= a 03 RSS4-0,3/K1 42110823
: = SAL-8-RKS4-
Pin 1 o -
Pin 2 [ 4 “3 3 06 025 RSS4-0,6/K1 42-10824
i Pin < 15 SALBRISS 42-10825
Pin 4 - < ' RSS4-1,5/K1
o SAL-8-RKS4-
wn -
‘ ‘ ’ RSS4-3/KI 42110826
- SAL-8B-RKS5.1-
03 RSS5.1-0,3 /K1 4211132
Pin 1 -8B- -
2 Fin | = 06 SALBB—RKSSJ 211133
i N P 025 RSS5.1-06/K1
Pin 4 15 SALBBRKSS.I- 211134
A gos Pin 5 ' RSS5.1-1,5/K1
e SAL-8B-RKS5.1-
3 RSS5.1-3 /K1 4211135

34 CONEC® Technical information starting on page 348



~
= £
g =
8 S
- Il =
& 2 fhE
N S S = a
§ o & = S 8
2 £ T S () N
S s £ 8¢
PVC, grey, LiYY Contact assignment = S & S 8 = Description Part No.
SAL-8-RKS3-RSS3-
03 03/A1/05 42-13075
a
S SAL8-RKS3-RSS3- )
56 - 3 06 Ao 4213076
Pin 3 W 3 N 5 0,5
Pin 4 W 8
< SAL-8-RKS3-RSS3-
c>> 15 15/A1/05 42-13077
n
SAL-8-RKS3-RSS3-
3 3/A1/05 42-13078
SAL-8-RKS4-RSS4-
03 03/A1/05 42-13083
a
SAL-8-RKS4-RSS4-
> R
En;; 3 0,6 0,6/A1/05 42-13084
n
it ’ s o SAL8-RKS4-RSS4
Pin 4 N < -8- d - ]
c>> 15 15/A1/05 42-13085
n
™| 6,9
I SAL-8-RKS4-RSS4-
3 3/A1/05 42-13086
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKS3-RSS3-
03 03/K1/05 42-13079
a
> SAL-8-RKS3-RSS3- i
pin 1 3 06 0,6/K1/05 42-13080
@56 Pin 3 N 3 S 5 05
Pin 4 N
< SAL-8-RKS3-RSS3-
g 15 1.5/K1/05 42-13081
wn
SAL-8-RKS3-RSS3-
3 3/K1/05 42-13082
SAL-8-RKS4-RSS4-
03 0,3/K1/05 42-13339
=]
. = SAL-8-RKS4-RSS4- R
Fin | - S 08 0,6/K1/05 4213340
n
= ’ L\) ’ o SAL-8-RKS4-RSS4
Pin 4 N < -8- d -
> 15 15/K1/05 4213341
n
= 69 SAL-8-RKS4-RSS4- )
L ].ges 3 B 42-13342

Technical information starting on page 348 CONEC® 35



)
= £
g =
g S < < s
S « o "' |
< § 5 §
S = S S wv
[S) = v
I o > B X9
S £ 3§ § « U
; S § 85 8 ¢
PVC, grey, LiYY Contact assignment = S & G O = Description Part No.
SAL-8-RKS3-RSU3-
@56 %) 03 4210173
i a ' 0,3/A1
&2 SAL-8-RKS3-RSU3-
Pin 1 2 0,6 A 4210174
Pin 3 N AN 2 L
58 l bin 4 ’ ® ’ s 0% saLeRksIRSUS o175
3 ' 15/A1
2 SAL-8-RKS3-RSU3-
wn -
‘ ‘ 3 B 42-10176
y SAL8-RKS4-RSU4-
Q 03 03/A] 42-10189
i = SAL-8-RKS4-RSU4-
2 Wit across o) 2 06 06/A] 42-10190
flats 9 ) !
Pin 3 I 4 K 0.25 AL 8-RKS4-RSU4-
Pin 4 < 15 A 42-10191
769 =) ' -8- - -
Mex1 o 3 gé;ﬁ RIS4-RSU4 42-10192
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKS3-RSU3-
_ #58 Q 03 03/K1 4210177
>
SAL-8-RKS3-RSU3-
Pin 1 S 0,6 P 4210178
3 Pin 3 ~ ) :
I l pin 4 ’ Q 3 e 025 = G\ L8-RKS3-RSU3- 4210179
= ! 15/K1
2 SAL-8-RKS3-RSU3-
Lo -
‘ ‘ 3 e 4210180
y SAL-8-RKS4-RSU4-
9 03 03/K] 4210193
>
; AL-8-RKS4-RSU4-
? \?\/vl\é?h/across :2 ; ; 8 0,6 gG/BK.I sl 42-10194
flats 9 "
- Pin 3 - 4 o 3 025 G AL8-RKS4-RSU4-
Pin 4 I <>t 1.5 15/K1 42-10195
6.9 2 '
SAL-8-RKS4-RSU4-
el -
M1 3 e 42-10196

36 CONEC® Technical information starting on page 348




~
= £
g =
5 S I < s
S v o kS
o g § § %
N g S B a
3 S e
Q < S
S T s 2
: : S S § 5§ ¢
PVC, grey, LiYY Contact assignment = S & G O = Description Part No.
21 SAL-8-RKW3-RS3-
LD) 03 03/A1 42-10149
> 8- _RS3-
Pin 1 = 0,6 S e liLURRIRD 42-10150
pin 3 3 S 3 0,25 ~96/Al
N o Q 15 SALB-RKW3-RS3- 4210151
> ' 15/A1
o -8- . -
a/\l\(lje/ 0 3 ;A/I"oﬁ NEERIES 42-10152
idth across
flats 9 SAL-8-RKW4-RS4-
LD) 03 03/A1 42-10165
) > 8- -RS4-
2 Pin 1 - Z 06 SAL-8-RKW4-RS4 2210166
Pin 2 [ 4 'f 3 025 0,6/A1
Pin 3 ) 7 SAL-8-RKWA4-RS4-
Pin 4 HN <>): 15 15/A1 42-10167
o101 R 3 SRSRNERE 4210068
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-RKW3-RS3-
21 R
LQ) 03 03/K1 42-10153
>
SAL-8-RKW3-RS3-
Pin 1 = 0,6 06/K1 42-10154
Pin 3 ~ 2 :
& P::4- 3 Q 3 025 SAL-8-RKW3-RS3-
< 1,5 15/K1 42-10155
> :
e SAL-8-RKW3-RS3-
wn N
- a/\?fli?h/across ’ 3/K1 4210156
flats 9 SAL-8-RKW4-RS4-
8 03 03/K1 42-10169
. > 8- -RS4-
g Fin | 1 3 06 gAGL /SK?KW“ Ro4 4210170
Pin 2 4 < 3 025"
Pin 3 ) e SAL-8-RKW4-RS4- 4210171
Pin 4 HE <>f ' 15/K1
oo 3 3 gﬁi?'RKW“'RS“' 4210172
PVC, grey, LiYY
20 o 03 SAL-8-RKWS3-RSU3- 2210181
— a 03/A1
i I’_ > Q. ~ B
= Pin 1 mm 2 06 E/ZL /EZI]RIQNSB U™ 4210182
g i Pin 3 HE N 3 025
: &8 pnoem ’ 9 s SALBRKWS3-RSU3- o
> ' 15/A1
e SAL-8-RKWS3-RSU3-
Cal -
‘ ’ 3 3/A1 42-10184
- SAL-8-RKWS4-RSU4-
g SW9/ 9 03 03/A1 42-10197
o Width across ;
< flats 9 ) > 8- - -
ats Pin 1 = 06 SALB-RKWSA-RSU4- 5 100 o
Pin2[J 4 f 3 025 0,6/A1
Pin 3 Wl ) “7 SAL-8-RKWS4-RSU4-
—|| @59 Pin 4 N g 15 15/A1 42-10199
M38x1 > 1
@101 ? 3 z@;sl'RKWS“'RSU“' 42-10200
TPU, UL, halogenfree, black, Li9Y11Y
-—2 SAL-8-RKWS3-RSU3-
‘ Lg) 03 03/KI 42-10185
il T - 2 06 gAGL-/SkI:KWSB-RSUZi- 4210186
N S| e Pin 3 W 3 N 3 025"
818 pin 4w Q -’ SALB-RKWS3-RSU3- ;0
= ' 15/K1
‘ ’ (=] SAL-8-RKWS3-RSU3-
wn -
3 3/K1 42-10188
o SAL-8-RKWS4-RSU4-
N Ve s % 03/KI 42710201
< flats 9 ) SAL-8-RKWS4-RSU4-
Pin 1
Pin 207 q § 3 06 025 06/K1 4210202
Pin 3 I 2 SAL-8-RKWS4-RSU4-
=l goo Pin 4 5;) 15 ekl 4210203
M38x1 '
210 b 3 géi?'RKWS“'RSU“' 4210204

Technical information starting on page 348 CONEC® 37



)
= £
g =
g ST
S v o IS
S, > £ = Y
5 & § 5 2
N s = S a
S & = = = ¥
QL £ T S 2 o
: H H E
PVC, UL, grey, LiYCY Contact assignment = S &= O O = Description Part No.
SAL8S-RK3-2/G3  42-10843
;’ﬁ"}: 3 SAL-8S-RK3-3/G3  42-10844
IPIn31
1Pin4/mm E K 0.25
T 5 SAL-8S-RK3-5/G3  42-10845
10 SAL-85-RK3-10/G3  42-10846
?10,1
— 2 SAL-85-RK4-2/G3  42-10851
[Pin 11
Ipin 2l 3 SAL8S-RK4-3/G3  42-10852
Width across  |Fin 3| 4 30 3 0.25
2 flats 9 {Pin 4/ 5 SAL-85-RK4-5/G3  42-10853
3 |8
“ 10 SAL8S-RK4-10/G3  42-10854
- |
JTee 2 SAL8SRK82 /G3  42-12190
[Pin 11 Pin5)mm
Ipin2lmm lpine! 3 SAL8S-RK83 / G3  42-12191
Ipin3/mm lpin7mm 8 A 30 15 014
P4/ [Ping!mm 5 SAL-8S-RK8-5 / G3  42-12192
[ I [
10 SAL-8S-RK8-10 / G3  42-12193
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL-8S-RK3-2/G2  42-10847
;’:jn';":: 3 SAL-8S-RK3-3/G2  42-10848
IPn3t
{Pin 4w 3 N 0.25
e 5 SAL8S-RK3-5/G2  42-10849
10 SAL8S-RK3-10/G2  42-10850
?10,1
2 SAL8S-RK4-2/G2  42-10855
‘ e 3 SAL8SRKA43/G2 4210856
o 25105 lpin3 mam 4 30 3 025
{Pin 4/ 5 SAL8S-RK4-5/G2  42-10857
|
o T 10 SAL8S-RK4-10/G2  42-10858
_TiTLer
N 2 SAL8S-RK82 /G2  42-12186
{Pin 11 {Pin 51 mm
{rin2/mm Ipinel 3 SAL8S-RK83 /G2  42-12187
lPin3/mm lpin7mm 8 A 30 15 0,14
P4/ [ping!mm 5 SAL8S-RK85 /G2  42-12188
| [
10 SAL-8S-RK8-10 / G2 42-12189
TPU, UL, halogenfree, black, LI9YC11Y
20 2 SAL-8S-RKW4-2/G2  42-12351
iy
§ e . 3 SAL8S-RKW4-3/G2  42-12416
o ' }PIH]:-
1Pin2,C 1
SW9/ IPin 3| 4 30 3 0,25
Width across IPin4 !
flats 9 —
10 5 SAL-8S-RKW4-5/G2  42-12352
' 10 SAL-8S-RKW4-10/G2  42-12353

38 CONEC® Technical information starting on page 348



=
= £
g =
~ =
g =<3 8
o V [y
QU > &£ = Y]
5 &£ 5 B g
S > g ] < e
- < = S (Y )
. ) e
: H H E
PVC, UL, grey, LiYCY Contact assignment = S &= O O = Description Part No.
SAL-85-RS3-2/G3 42-10859
{Pin T 3 SAL-85-RS3-3/C3 42-10860
H— 5 e s o
T 5 SAL-85-RS3-5/G3 4210861
10,1
10 SAL-85-RS3-10/G3  42-10862
M8x1
‘ 2 SAL-8S-RS4-2/G3  42-10867
[Pin 11
Ipin 2] 3 SAL-85-RS4-3/G3 42-10868
} Width across IPin 3| 4 30 3 0,25
ps | flats 9 IPin 4/ M 5 SAL-85-RS4-5/G3 42-10869
.
BEE; § 10 SAL-8S-RS4-10/G3  42-10870
2 SAL-85-RS8-2 / G3  42-12198
@10
[Pin 11 Pin5)mm
{rin2/mm IPinel 3 SAL-8S-RS8-3 / G3  42-12199
IPin3/mm pin7mm 8 A 30 15 014
[Pin4/C= [Ping! M 5 SAL-85-RS8-5 / G3  42-12200
[ [
10 SAL-8S-RS8-10 / G3 4212201
TPU, UL, halogenfree, black, LI9YC11Y
2 SAL-85-RS3-2/G2 42-10863
{Pin T 3 SAL-85-RS3-3/G2 42-10864
o 3 e 3o
e 5 SAL-85-RS3-5/G2 42-10865
@10,1 10 SAL-85-RS3-10/G2  42-10866
‘ M8t 2 SAL8SRS4-2/G2 4210871
[Pin 11 mm
Ipin 2|7 3 SAL-85-RS4-3 /G2 42-10872
1Pin3 | 4l 30 3 0,25
| Width across ~ [Pin4/mml 5 SAL-85-RS4-5/G2 42-10873
b | flats 9 —
. g 10 SAL-8S-RS4-10/G2  42-10874
3 «©
2 SAL-8S-RS8-2 / G2 42-12194
@10 [PinTIC] {Pin 51 mm
{pin2lmm lping! 3 SAL-8S-RS8-3 / G2 42-12195
lPin3mm [Pn7mm 8 A 30 15 0,14
(Pin4)C=] [Ping!mm 5 SAL-8S-RS85 /G2 42-12196
[ |
10 SAL-8S-RS8-10 / G2 42-12197
TPU, UL, halogenfree, black, LI9YC11Y
- 2 SAL-8S-RSW4-2/G2  42-12417
26 |2
°§° AN
é_\ - 3 SAL-8S-RSW4-3/G2  42-12418
}PIH]:-
[ Width 1Pin2,C1
P = 4 30 3 025
IPin4 !
@10 5 SAL-8S-RSW4-5/G2  42-12419
D
10 SAL-8S-RSW4-10/G2  42-12420

Technical information starting on page 348

CONEC® 39




~
g
RS <) 1 o
s 5 s § 3
S = ©
§ o & = & 8
S £ ©®wW § ™ ©
. E 3 & § § 8
PVC, UL, grey, LiYCY Contact Assignment = S & S 8 = Description Part No..
SAL-8S-RK3-RS3-
03 03/G3 42-10875
< i o SALBSRK3-RS3- ) oo
)W B10. in3 i 3 60 3 025 96/ C3
vl : {Pin 4w 15 "7 SAL-8S-RK3-RS3- 4210877
— G 15/G3
SAL-8S-RK3-RS3-
Width across 3 42-10878
flats 9 3/G3
SAL-8S-RK4-RS4-
03 03/63 42-10883
}P@n 1 :- 06 SAL-8S-RK4-RS4- 4210884
}PmZ::I A 30 3 025 0,6/G3
iPin3, B “> " SAL-8S-RK4-RS4-
IPin4! -
Pind; 1,5 15/G3 42-10885
SAL-8S-RK4-RS4-
3 3/G3 42-10886
SAL-8S-RK8-RS8-
03 42-12206
Width across 2,3 253 =
flats 9 [Pin 11 Pin5)mm AL-85-RK8-RS8-
1Pin2| MM |Pin6| 06 0,6/ G3 42-12207
ipin3mm pin7mm 8 A 3015 014 ™ SAL8S RK8-RSS-
Mexi [Pin4/=1 " [Ping!mm 15 gt 4212208
10,1 SAL-8S-RK8-RS8-
3 3,63 42-12209
TPU, UL, halogenfree, black, Li9YC11Y
SAL-8S-RK3-RS3-
03 03/G2 42-10879
}FP_inTI- 06 SAL-8S-RK3-RS3- 42-10880
10,1 {Pin /- 3 60 3 025 - 20/02
{pin 4} 15 SALBSRK3-RS3- 4210881
— g 15/G2
) SAL-8S-RK3-RS3-
Width across -
fiats 9 3 3/G2 42-10882
SAL-8S-RK4-RS4-
03 03/G2 42-10887
[Pin 11 mm SAL-8S-RK4-RS4-
3sz::| . N . 06 055 06/G2 42-10888
{Pin3 - 22 AL8S RKA-RS4-
1Pin4 ! m R
{Pin4; 15 15/G2 42-10889
SAL-8S-RK4-RS4-
3 3/G2 42-10890
SAL-8S-RK8-RS8-
42-12202
Width across U 03/G2
flats 9 TPin 11 [PinGmm SAL-8S-RK8-RS8-
{Pin 2| |Pin6| 0.6 06/ G2 42-12203
pinzmm ez |8 A (30 13 014 =G AL 85 RKB RS-
Vet {Pin4lT=1  [pin 5/ mm 15 15/ o 4212204
@101 SAL-8S-RK8-RS8-
3 3,02 42-12205
TPU, UL, halogenfree, black, Li9YC11Y
SAL-8S-RKW4-RSW4-
03 03/G2 42-12412
b § Width across
T flats 9 SAL-8S-RKW4-RSW4-
— _ :
P T 06 0,6/G2 4212413
o 1Pin 2|3
- IPin3/m 4 30 3 0,25
LP,iT£ SAL-8S-RKW4-RSW4
_{ 1,5 15/G2 42-12414
S Width across
flats 9
T
- SAL-8S-RKW4-RSW4-
— . 53 3 3/G2 42-12415
2l e

40 CONEC® Technical information starting on page 348



=
= £
g =
g = I < §
S v o IS
S, S £ S )
5 & § 5 2
N S N < a
S & = = = ¥
QL £ T S 2 o
. S 38 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-12-RK3-2 /A1 43-10000
Pin 1 3 SAL-12-RK3-3 /A1 43-10001
Pin 3 3 A 250 4 034
Pin 4 5 SAL-12-RK3-5 /A1 43-10002
10 SAL-12-RK3-10/A1  43-10003
2 SAL-12-RK4-2 /Al 43-10020
E" ; ; 3 SAL-12-RK4-3 /A1 43-10021
n
i 4 A 250 4 0,34
Pin 4 5 SAL-12-RK4-5 /A1 43-10022
10 SAL-12-RK4-10/A1  43-10023
SW13/
ot across 2 SAL12-RK5-2/A1  43-10040
Pin 1 Il
Pin 207 3 SAL-12-RK5-3 /A1 43-10041
Pin 3 5 A 60 4 034
Pin 4 . 5 SAL12-RK5-5/A1 43-10042
1 Pin5 M
10 SAL-12-RK5-10/A1  43-10043
2 SAL-12-RK6-2 /AT 43-10060
Pin 1 EE  Pindmm 3 SAL-12-RK6-3 /Al 43-10061
Pn2CJ Pncmm 6 A 30 2 0,25
Pin3mm  Pin7 5 SAL-12-RK6-5 /Al 43-10062
10 SAL-12-RK6-10/A1  43-10063
2 SAL-12-RK8-2 /Al 43-10072
g@n ;E {;@n g- 3 SAL-12-RK8-3 /Al 43-10073
n In
pinzmm  pin7mm S A 30 2 0.25
Pin4C  Pingmm 5 SAL-12-RK8-5/A1 43-10074
10 SAL-12-RK810/A1  43-10075
2 SAL-12-RK12-2/A3  43-11264
Pin 1 Pin 7 N
{;@n ; ; {;@n g: 3 SAL12-RK12-3/A3  43-11265
In n
pnsmm pniomm 12 A 30 15 014
Pin 5 Pin 11 M 5 SAL-12-RK12-5/A3 43-11266
Pin 6 1 Pin 12 Il
10 SAL-12-RK12-10/A3  43-11267
Technical information starting on page 348 CONEC®

a1




~
= £
g =
g S = 5 s
kS v o S
o g § § B
N s 5 2 ]
N [S)
S & = = = ¥
<Q < S S ~ S
i S S 5 5 8 ¢
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = S &= O O = Description Part No.
SAL-12-RK3-2/K1 43-10012
Pin 1 W 3 SAL-12-RK3-3 /K1 43-10013
Pin 3 3 A 250 4 034
Pin 4 5 SAL-12-RK3-5 /K1 43-10014
10 SAL-12-RK3-10/K1  43-10015
2 SAL-12-RK4-2 /K1 43-10032
:jn ; ; 3 SAL-12-RK4-3 /K1 43-10033
n
i 4 A 250 4 034
Pin 4 HE 5 SAL-12-RK4-5 /K1 43-10034
10 SAL-12-RK4-10/K1  43-10035
SW13/ 2 SAL-12-RK5-2/K1 43-10052
Width across
<~ flats 13 Pin 1
Al Pin 21 3 SAL-12-RK5-3 /K1 43-10053
Pin 3 5 A 60 4 034
® Pin 4 . 5 SAL-12-RK5-5 /K1 43-10054
_ Pin 5 M
@11 10 SAL-12-RK5-10/K1  43-10055
2 SAL-12-RK6-2 /K1 43-11038
Pin1EE  Pind4mm 3 SAL-12-RK6-3 /K1 43-11039
P!nZI:I P!n6- 6 A 30 2 0,25
Pn3Wm  FPin7 5 SAL-12-RK6-5 /K1 43-11040
10 SAL-12-RK6-10/K1 43-11041
2 SAL-12-RK8-2/K1 43-11034
E?n ; E E?n g- 3 SAL-12-RK8-3 /K1 4311035
n n
Pin 3 I Pin 7 N 8 A 30 2 0.25
Pn4C]  Pingmm 5 SAL-12-RK8-5 /K1 43-11036
10 SAL-12-RK8-10/K1  43-11037
2 SAL-12-RK12-2 / K1 43-11268
Pin 1 Pin 7 N
E?n;; Ein S: 3 SAL12-RK12-3 / K1 43-11269
n n
pnamm  pniomm 12 A 30 15 014
Pin 5 Pin 11 B 5 SAL12-RK12-5 / K1~ 43-11270
Pin 6 Pin 12 I
10 SAL-12-RK12-10 / K1 = 43-11271
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RK3-2/J1 43-10016
Pin 1 mm 3 SAL-12-RK3-3/J1 43-10017
Pin 3 3 A 250 4 034
Pin 4 5 SAL-12-RK3-5/J1 43-10018
10 SAL-12-RK3-10/11 43-10019
2 SAL-12-RK4-2/J1 43-10036
F;?" ; ; 3 SAL-12-RK4-3 /11 43-10037
n
i— 4 A 250 4 034
Pin 4 5 SAL-12-RK4-5/J1 43-10038
Width across
< fata 15 10 SAL-12-RK4-10/11 43-10039
2 SAL-12-RK5-2/J1 43-10056
. @ Pin 1 I
Pin 201 3 SAL-12-RK5-3/J1 43-10057
@11 Pin 3 5 A 60 4 0,34
Pin 4 5 SAL-12-RK5-5 /11 43-10058
Pin 5 M
10 SAL-12-RK5-10/J1 43-10059

42 CONEC® Technical information starting on page 348



~
= £
g =
~ =
g =<3 8
S} ) > )
o g = § B8
N s S s ]
S S o S 8
) > IS =
QL £ T S 2 o
: S S5 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-12-RK3-2L-
- 2/ Al /025 4316746
—1 SAL-12-RK3-2L-
3 3 /Al /025 4316747
N~ B 025 = A L12-RK3 2L
5 Selbden 43-16748
5/ Al /025
SAL-12-RK3-2L-
10 Vo 43-16749
SAL-12-RK4-31-
— 2 2/ Al /025 4316762
LPin2 9. 2.
L2 E SAL-12-RK4-3L- 4316763
e e 3 /Al /025
FIPiesys 4 A 30 4 0.25 s pL12-RKA3L:
5 43-16764
Pin 3 5/ Al /025
SAL-12-RK4-31-
10 LA 43-16765
/ SAL-12-RK5.2-21-
. X\ggtl:;oross — 2 2/ Al /025 43-16754
P SAL-12-RK5.2-21- 4316755
5 A 30 4 025 2/ AL/025
e s SALI2RK5.2:2l: 4316756
5/ Al /025
@11 Fin S & SAL-12-RK5.2-21- ]
10 e 43-16757
SAL-12-RK5-31-
s 2 0l P 43-16770
P SAL-12-RK5-31- 4316771
5 A 30 4 025 2L ALL025
s SALI2Z-RKS3L 4316772
i 5/ Al /025
SAL-12-RK5-31-
10 10/ A1 /025 4316773
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12-RK3-21-
. 2 SV o 43-16750
- SAL-12-RK3-21- 4316751
3 /K1 /025
N " B 025 = A L12-RK3 2L
5 = 43-16752
SAL-12-RK3-2L-
10 1 B 43-16753
SAL-12-RK4-3L-
- g 2 /K1 /025 4316766
“LPin2 ~ o n _
Lpin4mm 3 SAL-12-RK4-3L- 4316767
T L e 3/K1/025
piyiysys 4 A 30 4 025 = oA L12-RKABL:
- 5 C e 43-16768
SAL-12-RK4-31-
10 9/ 70 o 43-16769
SAL-12-RK5.2-21-
swis/ bin 1 2 2 /K1 /025 43-16758
I across
- fats 15 SAL-12-RK5.2-21- _
T 3 3 /Kl /095 43-16759
. * B ¢ - 0.25 s AL12-RK5.22L- 4316760
e 5/ K1/ 025
Fin> SAL-12-RK5.2-21-
» 10 6.7 70 7 (5 43-16761
SAL-12-RK5-31-
s 2 2 /Kl /025 43-16774
Tenomm | 3 SAL-12-RK5-31- 4316775
5 A 30 4 025 -2/ KILZ025
s SALI2RKS3L 4316776
i 5 /Kl /025
SAL-12-RK5-31-
10 VR o 43-16777

Technical information starting on page 348

CONEC® 43




~
= £
g =
g ST
& B8l
S B S > "
NS S 2 < Q
S & = = = ¥
QL £ T S 2 o
i S 3§ 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-12-RKW3-2/A1  43-10168
Pin 1 3 SAL-12-RKW3-3/A1  43-10169
Pin 3 3 A 250 4 034
Pin 4 5 SAL12-RKW3-5/A1  43-10170
10 SAL-12-RKW3-10/A1 = 43-10171
2 SAL-12-RKW4-2/A1  43-10188
g!";; 3 SAL12-RKW4-3/A1  43-10189
n
i 4 A 250 4 034
Pin 4 5 SAL-12-RKW4-5/A1  43-10190
27
10 SAL-12-RKW4-10/A1  43-10191
L3
+ = g 2 SAL-12-RKW5-2/A1  43-10208
Pin 1
w swiss Pin 21 3 SAL-12-RKW5-3 /A1 43-10209
o Width across Pin 3 W 5 A 60 4 0,34
© flats 13 g;:g.- 5 SAL-12-RKW5-5/A1  43-10210
-
#11 10 SAL-12-RKW5-10/A1  43-10211
2 SAL-12-RKW6-2/A1  43-10228
Pinl1EE  Pin4mm 3 SAL-12-RKW6-3 /A1 43-10229
P!n2l:| P!nG- 6 A 30 2 0,25
Pn3 WM  Fin7 5 SAL-12-RKW6-5/A1  43-10230
10 SAL-12-RKW6-10/A1  43-10231
2 SAL-12-RKW8-2/A1  43-10240
E?H;E E"Z- 3 SAL-12-RKW8-3/A1  43-10241
n n
Pin 3 Pin 7 I 8 A 30 2 0.25
Pn4C  Pingmm 5 SAL-12-RKW8-5/A1  43-10242
10 SAL-12-RKW8-10/A1  43-10243

44 CONEC® Technical information starting on page 348



~
= £
g =
g ST
S N S S
< g 5§ § 9
S g S B ]
S & = = = ¥
QL £ T S 2 o
. H H E
TPU, UL, halogenfree, black, Li9Y11Y Contact assignment = S &= O O = Description Part No.
SAL-12-RKW3-2/K1  43-10180
Pin 1 3 SAL-12-RKW3-3/K1  43-10181
Pin 3 3 A 250 4 034
Pin 4 H 5 SAL-12-RKW3-5/K1  43-10182
10 SAL-12-RKW3-10/K1  43-10183
2 SAL-12-RKW4-2/K1  43-10200
:jﬂ ; ; 3 SAL12-RKW4-3/K1  43-10201
n
i 4 A 250 4 034
Pin 4 M 5 SAL-12-RKW4-5/K1  43-10202
27
10 SAL-12-RKW4-10/K1 ~ 43-10203
[fe]
1 = g 2 SAL-12-RKW5-2/K1  43-10220
Pin 1
- Pin 21 3 SAL-12-RKW5-3/K1  43-10221
N \?V%t%sa/cross Pin 3 N 5 A 60 4 0,34
© flats 13 EE ‘5'.- 5 SAL-12-RKW5-5/K1  43-10222
-
#11 10 SAL-12-RKW5-10/K1 ~ 43-10223
2 SAL-12-RKW6-2/K1  43-11046
Pin1EE  Pin4mm 3 SAL-12-RKW6-3/K1  43-11047
P!n 201 P!n cmm 6 A 30 2 0,25
Pn3 WM  Fin7 5 SAL-12-RKW6-5/K1  43-11048
10 SAL-12-RKW6-10/K1 ~ 43-11049
2 SAL-12-RKW8-2/K1  43-11050
Pin 11 Pin 5
Pn2EE  PinG 3 SAL-12-RKW8-3/K1  43-11051
Pin 3 W pn7E® 8 A 30 2 0,25
Pin4C2  Pin g N 5 SAL12-RKW8-5/K1  43-11052
10 SAL-12-RKW8-10/K1 ~ 43-11053
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RKW3-2/]1  43-10184
Pin 1 3 SAL-12-RKW3-3/]J1  43-10185
Pin 3 3 A 250 4 034
Pin 4 H 5 SAL-12-RKW3-5/J1  43-10186
27
10 SAL-12-RKW3-10/J1  43-10187
[t
T = § 2 SAL-12-RKW4-2/J1  43-10204
SW 13/ Pin 1 . 3 SAL-12-RKW4-3/J1  43-10205
Width across Pin 2 i 4 A 250 4 0,34
o flats 13 Pin 3 '
Pin 4 HE 5 SAL-12-RKW4-5/J1  43-10206
-
F11 10 SAL-12-RKW4-10/J1  43-10207
2 SAL12-RKW5-2/J1  43-10224
Pin 1
Pin 2 3 SAL-12-RKW5-3/J1  43-10225
Pin 3 W 5 A 60 4 0,34
g;; g.- 5 SAL-12-RKW5-5/J1  43-10226
10 SAL-12-RKW5-10/J1  43-10227

Technical information starting on page 348 CONEC® 45



~
= 5
g
g S I - 8
S NS IS
N S S = Q
S = = ] < N
2 £ T S (S} N
. H H E
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
2 SAL-12-RKW3-21-2/A1  43-10368
27
3 SAL-12-RKW3-2L-3 /A1 43-10369
N =R 3 A 30 4 034
g SW 13/ 5 SAL-12-RKW3-21-5/A1 43-10370
Width across
@ flats 13
@11
10 SAL-12-RKW3-2L-10/A1 43-10371
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-12-RKW3-2L-2 /K1 43-10868
27
Pin 1 - 3 SAL-12-RKW3-21-3 /K1 43-10869
N =R 3 A 30 4 034
g SW 13/ 5 SAL-12-RKW3-2L-5/K1  43-10870
Width across
@ flats 13
@11
10 SAL-12-RKW3-2L-10/K1  43-10871
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RKW3-21-2/J1  43-10872
27
Pin 1 - 3 SAL-12-RKW3-21-3/]J1  43-10873
= 3 A 30 4 0,34
& SW1s/ 5 SAL-12-RKW3-21-5/]J1  43-10874
Width across
@ flats 13
@11
10 SAL-12-RKW3-2L-10/J1 43-10875

46 CONEC®

Technical information starting on page 348




=
= £
g £
g ST
S v > k]
Ny S = Q:) 8
) > - 2
<Q < S S ~ S
: S S5 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-12-RKW4-31-2 /A1 43-10424
Pin 1 .
Pin2C1
T pin 40 3 SAL-12-RKW4-31-3 /A1 43-10425
4 A 30 4 034
. 5 SAL-12-RKW4-31-5/A1 43-10426
- 10 SAL-12-RKW4-31-10/A1 43-10427
= N
AN
- 2 SAL12-RKW5-31-:2 /A1 43-10444
2 SW 13/ TPin2J T
® ooty across I e 3 SAL-12-RKW5-31-3 /AT 43-10445
. Yxe% 5 A 30 4 034
11 5 SAL12-RKW5-31:5/A1 43-10446
Pin 3 N
Pin5H
10 SAL12-RKW5-31-10/A1 43-10447
TPU, UL, halogenfree, black, Li9Y11Y
2 SAL-12-RKW4-31-2/K1  43-10436
Pin 1 .
Pin2J
T pin 40 3 SAL-12-RKW4-31-3/K1  43-10437
K% y%y 4 A 30 4 0,34
» NS 5 SAL12-RKWA4-3L-5/K1 43-10438
Pin3 HH
10 SAL-12-RKW4-31-10/K1 43-10439
2 SAL-12-RKW5-31-2/K1  43-10456
@Q
o ot across 3 SAL12-RKW5-3L3 /K1  43-10457
o 5 A 30 4 034
i1 5 SAL-12-RKW5-31-5/K1  43-10458
Fnom 10 SAL12-RKW5-3L-10/K1 43-10459
TPU, UL, irradiated, orange Li12Y11X
2 SAL-12-RKW4-31-:2/J1  43-10440
Pin 1 HE .
Pin2J
T pin 4 mm 3 SAL-12-RKW4-31-:3/]1  43-10441
4 A 30 4 034
o7 5 SAL-12-RKW4-31-5/]1  43-10442
10 SAL-12-RKW4-31-10/J1 43-10443
- 2 SAL-12-RKW5-31-2/]1  43-10460
" .
N \?\X\ét;\sa(:ross LPin 2
@ flats 13 S pin 4 mm » 3 SAL-12-RKW5-31-3/J1  43-10461
o AYEvEY 5 A 30 4 034
11 5 SAL-12-RKW5-31-5/]1  43-10462
Pin 3 N
Pin5m
10 SAL-12-RKW5-31-:10/J1 43-10463

Technical information starting on page 348

CONEC® 47




~
= £
g =
—_ =
g =<3 8
S Q > o
Q. > &£ = D
5 & § & a
N S S §&§ &
) > 1 - =
| £ T g X N
; S § 8§ 5 8 ¢
PVC, grey, LiYY Contact assignment = S &= O O = Description Part No.
SAL-12-RS3-2/A1 43-10084
Pin 1 mm 3 SAL-12-RS3-3/A1 43-10085
Pin 3 3 A 250 4 034
Pin 4 . 5 SAL-12-RS3-5/A1 43-10086
10 SAL-12-RS3-10/A1  43-10087
2 SAL-12-RS4-2/A1 43-10104
Pin 1 3 SAL12-RS4-3 /A1 43-10105
i 4 A 250 4 034
o145 Pin 4 W 5 SAL-12-RS4-5 /A1 43-10106
M12x1 10 SAL-12-RS4-10/A1 43-10107
2 SAL-12-RS5-2/A1 43-10124
Pin 1
(RN bin 2 3 SAL12-RS5-3/A1  43-10125
Swis/ Pin 3 5 A 60 4 034
2 Wicth across i 5 SAL12RS55/A1  43-10126
g flats 13
10 SAL-12-RS5-10/A1 4310127
—~ ™
2 SAL-12-RS6-2 /A1 43-10144
gt Pin 1M Pin4 3 SAL-12-RS6-3 /A1 43-10145
Pin2CJ  Pin 6 mm 6 A 30 2 0,25
Pin3MM  Pin7 5 SAL-12-RS6-5/A1 43-10146
10 SAL-12-RS6-10/A1 43-10147
2 SAL-12-RS8-2 /Al 43-10156
E?";E E”g' 3 SAL-12-RS8-3 /A1 43-10157
n n
Pin 3 Pin 7 I 8 A 30 2 0.25
Pn4C]  PingmM 5 SAL-12-RS8-5/A1 43-10158
10 SAL-12-RS8-10/A1 43-10159
2 SAL-12-RS12-2/A3  43-11272
Pin 1 Pin 7 N
rfjn_g’; g?ng= 3 SAL-12-RS12-3/A3  43-11273
n n
Pin 4 8  Pin 10 Il 12 A 30 15 014
Pin 5 Pin 11 M 5 SAL-12-RS12-5/A3 43-11274
Pin6 [ Pin 12 HH
10 SAL-12-RS12-10/A3  43-11275

48 CONEC® Technical information starting on page 348






